/" GSEH. Geometry Unit 5 - Coordmo’re Geometry Review

Name: ._ ' e C Dofe
\aUse the followmg to review for you test. Work the Practice Problems onda separate sheet of paper.
What you need Thm sto B -
fo know & be remegmber Probl‘ei'n' R Problem
able to do ' :
' 1. Find the midpoint of {5, 1} 2. Find the coordinaies of the
and {6, 7). other endpoint of a segment
. : ' with an endpoint of {-2, 2) and
“ / i a midpoint (8, 3).
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3. Brandy c:n r ifhe pooi playing a game of Marco
i ) Polo. Brandy swims 10 ft south and 7 ft east ofbase. Mandy
¢ E”?\Ajhe d:’:fldnce swims 6 ft north and 5 ft west from where they started together
erween iwo in the middle of the poal. How far apart are Brandy and
peopie. Mandv2 . i
andy? M ‘/E-T_frs)?.- +{ =102
e Pay attention to Fow r““"‘ 2
Direction: North (%0 Lz y? tiner
and Fast are ST _ v ?fu 2. .- I
positive, South and . ¥ , lg Q&ﬁ fﬁ
; ) ‘ West are negative &
, _ g -{r?,-m}
4. Determine whether Point A [3.8) lies on the circle whose
, cenferis Pom’r Cll.2) ond whlch confains the Poinf P {7, -4]
" |+ Dé&cide if a point '
bist ; lies on & circle: Find @a@ Ny R Ead & Y =25> CA 3’ m -H,&swz‘)?‘
istance an the length of the o (S . f Z
Applications radivs and see if f'i’ * G @”t"} *oriled
' the other distance Dletdie N ot Blp
is th . . .
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s _ A
2 %)+ n)’ - 5. Given that a rhombus has 4 congruent sides and opposife sides
paratlel, prove the following is a rhombus,
o Use Slope and
Distance to prove | Lengths
thai a shape s a AB: g 4
specific type of ’
guadrilateral or
triangle
» Paraliel and Ch: § " :k
Perpendicular: Use " v
Slope kd - jf &
SR s Congruent: Use ) =2 » &
) Distance A_BI o BC: 3 =
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GSE H. G_eome’rry

Unit 5 - Coordinate Geomeiry

Review

Perimeter and Area

» Perimeter:
Distance Around
an Object

e Areadofa
Parallelogram:
Length * Height

» Areaofa
Triangle:
Y2 (base} (height)

» Aregof o
Trapezoid:
(o1 + ba)h

4. Find the areq and
perimeter of the figure.
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7. Find the area and perimeter

~ of the figure. ‘
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Writing the Equation
of aline

s Two Points: Find the
slope, plug in slope
“and one point into
y=mx+b and solve
for b, then sub m
and b into slope
intercept form

« Pardllel: Use the
slope and solve for
b

s Perpendicular; Use
the opposite
reciprocal siope
and solve for b

8. Wwrite the equation of ine
that passes ’rhrdu Jalia ﬁw

ME |-l \ﬁm L .”3‘;)

and {0, -1).

ReltE y-§E3(87d)

] o3 -5 = By -
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10. Write an squation of the

line that pc:sses’fhrough

(-3, 4) and isfo
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11, Write an squation of the line
that passes, through (5, -3)and §~-

md &

ls@“erpendlcuic ntoy = -5/2x+1
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12. Find c point P on the

E} y
=°ls*-S
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,Qél]& Find a.point Ton the segment

(x-hP +ly-k)?* =r*

General Form
Ax? +By? + Cx +Dy +E =

* Mulliply the
~ binomidls out by
separating the
~terms that are
square
-+ Combine like terms
e Setequalto 0

Partitions ; . ] '
segment with endpoints with endpoints C(-4, -6} and
A{-1, -3) and B{7, 1) thai D(2, 3) that partitions it in a 2:1
%+ (e J51)(a + b) Use the formula pthons itin a 3:1 ratio. rdgo N )
- - o - - o By
Yit O = yl)(Hb)) e[+ 2 (1) =3 (e-a) Wt B (e ~br (s
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= ot ig =4+
Converfing standard 14. W_frl’re ’f'he equation of the  |15. Convert your answer from #14
. to general form circle in sfandard form. to the General Form.
Circles & XEd 2yt 2 Ut =9
Standard Form ¥ A2y v LRV )

| .2.|.

14. Convert 1o Standard:
x4+ y*+8x-14y+13=0

N2 By 4y 2ottty 5413
(x 41y + (Y= ;‘%,\aqu%
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Honors Geometry . Coordinate Geomeiry EOC Review

l.Find the intersection of the line and circle cllgebrolcally (g + 2) 4 (; — 1) = b{}

( ¥ 425% +l-x=|~1)% =50 Sy ey p B é "7 L@\)
- ] P i - ; - m-@
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2. State the center and radius: 3;,2 4 yﬁ — 10z — zgy 444 =0
x%ﬁ . m%,\j‘le E"ﬂjg- .E.-qm)s% ,

(X-8Y % ly =) ¥z~ 426+ 100

(# -8)= 4 ty=o)™ 7 & | U

C:(s,0) ri9 R I R R T

- 3. Determine the equation of the circle: ' ' '

(®-0)* “%“igfv@f“*%
x* —»\féxﬁw“) Y

¥

4. What is the location of the point (5, 2.7) with respect o a circle centered ot
(3. 8) passing through The point {4,8).
(-3 = 4 ly-wed® ™ T3 {5~ aﬁﬂﬁ k)“ﬁr
. T -
b-23% +(F-1y22¢ b4 10.%9:
( + o =yl fér nd, ‘ﬁg’?“‘f rﬂa%
5. Determine the equation of a circle centered at (-3, 3] that pqsses through fhe
point {1,5)2 - (x+B)% rly-adX* sy > { % t2y L\j»fé‘jg’ z lg
(142 ¢ (g-g)rec
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6. A circle has the equation x2 + y2 + 16x - 24y = -87. What is the length of the
diameter of the circle? ¥ * vy tiy 2 wa%j =87

(xdy? #Lg w(3)E = . g bl MY
Coapy® + (y2)? = 73 -
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7. Three of the four vertices of a quadrilateral located in the coordinate plane
are (1, 4), {6, 6}, and {3, 1). What coordinates of a fourth point would make
this quadnioferal a parallelogram? {two correct answers)
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8. Two vertices of a parallelogram are A(2, 3) and B(8, 11}, and the infersection

of the diagonals is X(7, 6}. Find the coordinates of the other two vertices.
{Q 3% i%f iy
@) {103

D29 Ble, )

9. Determine what type of triangle this is using distances and slopes: A(1, 1), B(4,
4), C(6,2) .

AR ¥ Stope. BC ~2 Siope <\ AC -— Sloge _}é
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gt Sealens

10. Points A(-8, 12) and B(-10, 18) are endpoints of directed line segment AB.
What are the coordinates of point P that partitions AB in the ratio 2:32

- 13
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H. Geometry More Coordinate Geometry Review

Name: | | Date:

L
5 i
‘-ss.a/

Review All

1. Write the equation of the circle centered at (-4, 6) with o diameter of 16. ¢& §
Xy e ® swy

- 2. Write an equoﬁon of fhe hne fhcn‘ pczsses ’rhrough (5 -3} ond is perpendlcu!qr ’ro

Y= 5/ tﬁ- "B 2 (x-5)
AERE S

3. Wrr’re an equation of ’rhe line that posses ’rhrough (2, 4) and is pqrollel to 4x +2y=8.

4ty g
&8=~H~‘>¢+&
3 = @E“‘-}%’%%

:j M= --» (R =)

g H?'ﬂp,&éwzﬂ-ﬁ R _";".

4, Reéd qndlSky[d;r qare. ploying Hide-dnd-Seek Reed runs and hides 30 ft.south and 24 fi
east of base. Skylor runs and hides 43 ft north and 12 ft west of base. How far apart
are Skylar and: Reed?

R (24 ,-30) JE:'A\-W‘ +{ 443 o)™
S (-2 43) V(=™ ot (1>

Ji24e + 5304 _
{Wss & 8.39 £+

5. A circular skylight has a diameter with endpoints af (-6, 32) and (2. 26). Find the -
center and radius of the skylight.
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H. Geometry More Coordinate Geometry Review

6. Find the perimeter of the figure.
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7. Prove using distance or the slope 1o prove that the figureis porollelogrom.
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8. Find a point T on The segment with endpom’rs C( -4, 6) and D(2 3) {@ J &) ‘

that parifions it in 0.2:1 ratio. : .
- <> s S

H*%( ”’“‘4’) “'*-ﬁ“*‘“’*%tv% @T}

- U+ () ~L T g (e

- ut Lae) —et 208 | |

9. Put the equdﬂon;of the circle in general form. (x —2)2' +(y+ 3)2 =16

Xéé“lvs}xm@q -%v\:l‘z e meﬁaﬁ) rile -
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10, Circle C has o center of (5.2) and a radius of 6. Does the paint (8, 7} lie on circle C?
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